l-/" l
@ Consider the following statements regarding the{lcgislative powersbof the Parliament
State Legislature:

and the
i.  Parliament has the authority to make laws for the entire territory of India@'}ln)’
Y part thgreof.

v ii.  The State Legislature can make laws for the entirg state or ;mﬂofit.
?il, ]'ar-han_.wnt has the power to cna.cl extra-territorial Ic'ms]auon,
~iv.  Rajya Sabha can declare any subject from lhcf_}_t_zll_c.*_l_,\lit to be of national interest by
a resolution passed by a 2/3rd majority of its total membership.
Choose the correct answer:
A) ionly
B) i andilionly
C) i, ii,andiiionly
) @1#_,1'11,and_|_v

)l‘
@ Consider the following statements about Money Bills:

wzt" The introduction of Money Bil!occur in the Rajya Sabha
2. The Rajya Sabha does not have the power to amend or reject it

X 3. The procedure for Money Bills includes the provision for a joint sitting of

Parliament.
How many of the statement/s given above is/are correct?
A~ B) One
0) three D) None of the above ¥

s qu,l!-' . woy- or]
@ Consider the following statements regarding started and unstarred questions:
d~”  The response to starred questions is provided orally.
x ii.  The response to starred questions is given in written form.
iii. The response to unstarred questions is provided orally.
iv.  The response to unstarred questions is given in written form.
v.  Supplementary questions can be asked for starred questions.
Choose the correct answer:

AT (Div, andonly
B) *ii, iii,and v only
C) @and_iﬁ only

D) xii,iv,and v only

(./

Which of the following are part of the Union List?
iz Duties in respect of succession to property other than

Jie  Corporation tax
iii. Taxes on agricultural income

iv.  Taxes on income other than agricultural income
Choose the correct answer:
A) iand iionly

x*B) i,ii and i only

“€J" i ii and ivonly

xD) iii and iv only

(91-) (C) 3) [P.T.0.
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an Constitution

@ensider the following statements regarding the Sixth Schedule of the Indi l
% i.  Ithas special provisions for the administration of Wﬂ@im” 1easten

states: Assam, Mcglnhya,Trlpur'l and Manipur.
ii.  The tribal areas in these states arc governed as Autonomous Districts.

How many of the above Statement/s is/are cnrrcct"
X A) ionly
By i1only
C) Both
D) None ofthe above

. 6. Which of the following parliamentagg commitice 1S jointly elgeted by both houses o

Parliament?
Business Advisory Committee

) [Estimate)Committee Pt 7

C) Committee on Public Undertakings 20\ —,
yw D) Committee of Privlleges | i :

? = Consider the following functionaries:
i.  Chief Election Commissioner
ii. Speaker of the Lok Sabha
iii. Judges of the Supreme ¢ Court
iv. Attorney General of India
Their correct sequence in the order of precedence is:
A) i, i1, 1, 1v
B) i, i, iii, iV
i, ii, iii, iv-
[ D) i, iv, il i

Who among the following were members of the drafting committee of the Constituen
Assembly? — -
ur” B.R. Ambedkarﬂ‘“"
,_,u/‘ Alladi Krishnaswamy Ayyar
diir K.M. Munsh1 .
x iv. JB. Kr1palam FR fvh Lo .
Select the correct answer using

A) i and ii only

LB')/'; ii and iii only

C) 111andwonly
D) 1, ii, iii and iv

the code given below:

(D
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@ With reference to the Com

. trol] : : :
it aretita e corrccl?p ®rand Auditor General of India, which of the following

¥ He/Sheisthe head of the In

di: :
ii.  He/She holds office for 1an Audit and Accounts Department.

. : : a period ' .
e apeniod offfive yeardor up to  the age of 65 years, whichever

iii. His/Herdutyisto ipholdth IS ] iy
the field of financia ¢ Constitution of India and the laws of Parliament ip

administration.

Select the corTect ANSWer using the code given below. cec

g

Wy ionly . {26¢.

B) iiandiiionly
C) iandiiionly
i, 11 and i1l
D) 1,11 an oA ?
Consider the following Committees: L
G Balwant Rai Mehta Commitee
2" Ashok Mehta Committee
L3~ L M Singhvi Committee
cé4 Santhanam Committee
How many of the above Committees is/are related to'the Panchayat Raj system?
A) Onlyone B) Onlytwo.
C) Only three |9)% All four

.
PN P

@. Which of the following expenditures are listed as the exgenditure"charged' ﬁEon the
Consolidated Fund of India? ) _
4~ Salaries and allowances of the Speaker of the Lok Sabha

" Salaries and allowances of the Chairman of the Rajya Sabha .

b, allowances and pensions of the Judges of the Supreme Court a

Courts.
iv.  Salaries, allowances and pensions of the Chief Election Commissioner.
Select the correct answer using the code given below:

w'and ii onl X B) iiand ii?{only
C) i, iiand .i_i_i)g;ﬂy DBy i, i, ditand iv
Who made this statement: “Because of circumstances that have now come inio beingthat

it is federal or unitary, welfare siates fron beingPolice
th become, where it is fe

ibility as for the economic well-being of the country

States and the ultimate respousioie.

has become the parwwmbmﬂ’ of the Centre”. iy

A) Rajendra Prasad

B) Jawaharlal Nehru 2 |
-y Bhimrao Ambedkar

D) T.T.Krishnamachari

(1-1) (O)

(3 [P.T.O.
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' Sllowi tatements- -
onsider thc follomng_s atements:
13.  With reference to Censure ion, € A y

dmdu’ll ministeronly |
X i It can be moved ¢ mamqlﬁ,!__._. |
. ers
TR TR ed in the L ok Sabha the council of Immst mﬂﬂ.msjm
1. il is pass LOK o0 =

office. * o e A
iii. Itshould state the reasons for its adoption in the Lok Sa
Which of the statements £
A) X 1 only
B) iionly
C) X Both i and 11

‘_9)/' 1ii only

H 2
iven above is/are correct:

14. Below mentioned are four countries having largest Foreign Excha;Ec P:‘l:;er
rder of thei
- 2024. Arrange these countries in decreasing o
world in October 202 g -
Exchange Reserves.

i. India il
[ii. Japan

ii. China

iv.  Switzerland

Choose the correct order:
X4A) 4, ii, iv;iii
X B)Y v, i, iil,ii
CC) m i, 1iv, 1

111 v, 1i,1i

15, Which of the following projects have been developed under the 'Bharatmala Par
1. Delhi-Meerut Expressway

2. Eastem Peripheral Expressway
3,  Chenani-Nashri tunnel
4. Ambala-Lucknow Expres;swa}' T
5. BengaluruMysuru Expressway - - S
Choose the correct answer:
LAY 1,2,3and4 only
B) L,2,3and5 only
C) 2,3and4only
D) 3,4 and§ only ~

(91-1) (C) ©
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Whi : :
g hich of the following are the interventions under the iva Ki
wasthygKaryakram' (RKSK) in India? Rashtri ]

l Weekly Iron Folic Acid Supplementation Programme

1. Scheme for Promotion of Menstrual Hygiene among Adolescent Girls
iii. Peer Educator Programme '

iv.  Adolescent Friendly Health Clinics

V. Janani Suraksha Yojana

Choose the correct answer:

AT i, ii, iii and iv only

17,

-

19.

B) i,iv andvonly
C) i, iii,iv and vonly
D) iii,iv and v only

In the Pradh:i_ﬁ Mantri MUDRA Yojna , choose the correct order of the loan categories,
from the lowest to the highest, in terms of the loan limits:

ey e
A)  Shishu, Tarun, Kishor

YB7  Shishu, Kishor, Tarun

C) Tarun, Kishor, Shishu
D) Tarun, Shishu, Kishor

a mentioned in the

Arrange the following sources offevenue Jor the Government of Indi
Union Budget of 2024-25 in descending order:

1. Goods & Service Tax & other taxes

ii. Borrowingand Other Liabilities
iji. Corporation tax _ ;
iv. come Tax 0

Ch Frect ansywer:

A) i, i, ii, 1v
B) ii, iv, L M
i, 11, !

p) i, i %M
e t) framework mandates the Central
- ty and Budget Managemen nandates
RESPOHSIbm bt and the General Government Debt by
FRBM (Flscal T £ vernment Debt and {h al Ge )
mit the Contml 8 and th

Govemmfnzozs What are the limits of the Cerfiral Govel ‘@
. Marc ! t Debt respectivt:ly? .' I ’ — S“#.%
0 en ; t of GDP, respectively Leoy

ppand 43 ercef .
OngdDP and SB_I;}QE/EP-”—LOFGDILES-PECIWCIY ) -
= crcent O GDP, respectively

C) 35 percent © EEP and 60 percent of GDP, respectively

40 percent of
) P ) c€ ¢g [P.T.O.




ce Commission of India:

@ Consider the following statements regarding th T dalities for setting up
i.  The Article 380(1) of the Constitution lays down T the distribution of Tiet

o & TC ons ]
g B Conmigon 3, TLCTng:ftit:;uring {he award period.
proceeds of taxes between the Union anc DL‘_"eqioh;lS for a six-vear period

\ii="" The 15" Finance Commission made its recommen
from 2020-21 10 2025-26. issi
Pl o i Al _ . ommission.
C##7 Dr. Avind Panagariya is the Chairman of the 167 Fmaﬂfilc l(:ljlc by 31" March, 2025
iv.  The 16" Finance Commission shall make its reportavatia rer the period ofﬁvé
V.  The 16" Finance Commission’s recommendations would coV -
years commencing 01 April 2026.
Which of the above statements is/are correct:
LAY iﬁi}nd(lil bnly

AB) iiv andvonly
C) (iXinand iv only
D) (ingiipnd y only PN'FE‘_](“
? e
. 21. Consider the following statements regarding Per Drop More Crop. (PDMC) Scheme:
1. The PDMC Scheme focuses on enhancing water use efficiency at the farm level
through Micro Irrigation. :
&7 1tisa Centrally Sponsored Scheme proer!
¥' 3. Itisimplemented under Pradhan Mantri Krishi Sinchayee Yojana
4. Financial Assistance @ 55% for Small & Marginal farmers and 45% for other
farmers is provided by the government for the installation of Micro Irrigation under
the Scheme. il
How many of the above statement/s is/are correct?
A) Onlyonestatement
B) Onlytwostatements : 4
C) Only three statements T SRR a8
D) All the four statements

of Finar

S

A5l

e

@ Consider the following statements regarding National Electronic Fungd Ilsansfezl ‘ _E (NEFT)

and Real-Time Gross Settlement (RTGS):
1. InNational Electronic Fund Transfer (NEET), the transactiq o s
iy ’ nh 3
and hence it is slow appens i @

2. ]m-:if-'l"ime Gross Settl_ement(l_{_"l:@}, transactions happen in real time and hence

-~ being fast )
x 3.  Thereisno minimum limit in RTGS
4.  ThereisaRs2 Lakh minimum limit for NEFT
How many of tmve Statement/s is/are correct?

A)  Only one statement
5974 Only two statements
D D’Lré (_(;)/bnly three statements
— D) Allthe four statements

91-1) (C) TR D 8)
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23. Consider the f'DHowmg statements regarding eligibility criteria for Pmdlﬂn Mantri Awas
_ YOJ ana-Urban (PMAY-U) 2.0 Sch Scheme:
. Low-Income Group(L1G) lmuscholds are families with an annual income up to

Rs. 3 lakh.

ii.  Economically Weaker Section(EWS) households are families with an annual income
from Rs. 3 1akh up to Rs. 6 lakh.

i,

Middle Income Group (MIG) houscholds are families with an annual income from
- Rs. 6 lakh up to Rs. 12 lakh.

Th mtemcnﬂs is/are:

@3<i only
@i and iii ' -

C) iii only

D) i, iiand iii

24, Consider the following states and answe_rth_c question given below:

i.  West Bengal b

.  AndhraPradesh

1.  Assam

iv.  Bihar

v.  Sikkim )

vi.  Arunachal Pradesh

vii. Qdisha ‘ i

Which of the above states are covered under the Government of Ind-ia_’s ‘P ‘vn ay
as announced in the Union Budget 2024?

A) i, iv, viand vii

B) 1,11, ivand vii

C) i,iii,vandvi £

? | D i_, i, ii, iy,y, vi and vii

QSq Consider the following statements regarding the j‘MorﬂfMﬂtee”
1" The RBI Govemor has to vote bo

|~
L 11.
|

' i and in case of a tie.
th in the first instance o

The monetary policy committeq
Choose the correct answer: =
LA~ 1 only e
|I B) i only

: C) Bothi and ii

' D) Neither i nor ii

P.T,
91-) (O ® e,



26. “Quotasare the building blocks of thelIMFs financial and governance structure-An indivig,
member country’s quota broadly reflects its relative position in the world economy” |

the above context, which of the following parameters are used to calculate quota?
.  GDPofthe country

ii.  Degree of Openness

x 1. Demographic dividend
iv.  Economic variability
V. International Reserves

Choose thfi correct answer based on the code given below:

A) 1, il and v |
B i, 11, iv and vonly

i) S iii’?and Vv only

D) i, i, iii%and v only

27. Consider the following statements:

—Sfatement-1: Invasive species can outcompete native species.
Statement-I1: Invasive species areharmful to ecosystems.
Which one of the following is correct in respect of the above statements?
A) Both Statement-1 and Statement-I1 are correct and Statement-II explains Statement-

B)  Both Statement-I and Statement-1I are correct and Statement-11 does not explai
Statement-I

\.Gj’/gtatement-l is correct, but Statement-II is incorrect
D) Statement-l is incorrect, but Statement-11 is correct

? 28. climatnlogy”dealswith: -~

A)  Soil moisture data

B) Treering dataX Mm wéo
C) Ice core data LS i .

D) Paleo magnetismdata X

'] * Arrange the following biodiversity conservation efforts in India in chronological orde
' from earlier to later: Sl L

i.  Project Hangul -*"‘_,;___5'-
ii. Project Elephant —
iii. Project Snow leopard 432"
iv.  Project Tiger. — 2013
The correct answer/s is/are:
A) i, i, il 1V

xB) i, iv, i, iil

/Q'ﬂ i, i, iv, iii
x D) v, i, i, il
91-1) (C) (10)



Match ] =
@ '¢ following A ¢y with the year of their enactment: e

20 s Year of enactment
LA Wildlife Protection A : i. 1974
—— )

iil. 2002
1972

L}

3 Biologica] Div
4. Wa

ersity Act
ter (Prcvcmion & Ccnlri_ﬂiﬂ‘_[’-"‘““tion) e
Choose the correct answer:
| )
A) I~w s =10, 3-ifi | 4.
B)
Q) 2 -ii, 3-1, 4jj

Dy’ 1-_11_1 ,.,3-11 , 4-i

. 2-ii s 3-iii , 4-jy

1-1
1-i

@\\’hich of the following missjons cover thc@ational Action Plan on(g_:limatic Chang‘“’_‘
(NAPCC)? |

i. National Solar Mission — M .

ii.  Nationa{MissionYor a Green India

1i.  National Green Hydrogen Mission

iv.  National Mission on Sustainable Habitat

A National Bio-Fue] Mission :

Select the correct answer using the code given below:
AA) i,ii and iv '

B) i,iii_and v

C) i,ivand v

(B~ Allthe above

@V hich of the following are UNESCO's natural world herjtage sites in s in India?
. { ¢l.—~ Kaziranga national park
\{i— Manas wildlife sanctuary
Xiii. Rannof Kutch Wildlife Sanctuary
Uv"~ Western Ghats
Select the correct answer using the code given below:
A) i, ii and iii
By, ii and iv
C) i, iil andiv
D) Alltheabove

(91-D (O) 0y



33. Consi
onsider the following statements:

Stitem : = :
ent 1: The extinction of a keystone species €41 lead to €
d has no current

stem_collapse.

X Stat s
ement 2: Climate change is@ future concern an effects:

E‘S!.Tl:e“mm = Protected areas (T Cssential foriconscrvin biodivcl:-‘?“ '
: N ment 4: Ozone dcplmiéﬁ“{lirec;lycontributes to global warmine:
Which of the statement/s given above is/an€ correct?

A1 a_rgj_:’,_gnly

B) only

C) 1,2fand4

D) 1land4only.

Consider the f '
ollowing statements: :
Statfment 1: Cli : i d anthropo enic factors
: Clim ang edb ' both natural and an :
ate change is influenc ); \RAUBLE s ~tthe Earth”.

«_Statement 2: i T et ferred to as the
nt 2: The Amazon rainforest 18 often referred to as
sy al background rates.

Statement 3: Current extinction rates are d to historic'
_-Statement 4: Urbanization can negatively iwlocw

T_he correct statement/s is/are:

A) 1and3only

B) 2and4

C) 3only

Py 1,2,and4.

@ Consider the following statements: .
X Statement I: Organisms that can tolerate and a2 wide range of temperatures

are called stenothermal.
Statement 11: Generally, humans are considmg_s_mj]mhm.ﬂl.
The correct answer is:
A) Only Statement | is correct

\By~ Only Statement 11 is correct
) Both statement I and Statement 11 are correct

D) Neither statement I nor Statement II are correct

36. Considerthe following statements regarding the eutrophication of the lake:

X j. Itisan ant}l;wwmcess and doegncboceur naturally.

ii. Nitrateand phosphate arc the main contaminants for eutrophication

i

The correct answer/s is/are:
xA) i only
\_,B*)/ii only
X O Bothi and ii

D) Neither i nor ii

91-) (O) (12)




@ Consider the following statements:

-

- v'/
Assertion (A): Carbon dioxide, MELI.U“‘@ and Nitrous oxide are considered greenhouse

gases.

¥ Reason (R):  Greenhouse ga-s' absorbs short-wave radiation from the sun and is

transparent to long-wave radiation from Earth.

Choose the correct answer:

A .
) Aand Rare both correct and R 1S the correct explanation of A

B .
)  AandR are both correct and R 18 NOT the correct explanation of A

\_Q/P: is correct, but R is NOT correct

D) A is NOT correct, but R is correct
v

Consider the following statements regarcii'ng the productivitypf anEcosﬁtem: !

91-D (©)

he rate of fonnaliomganic matter by consumers.

i.  Gross primary productivit ist
ii.  Netprimary productivityi able b '
ary productivity is the variable biomes for the consumption t{@j

The correct answer/s is/are:
}X i only
B) i only B

C) Bothi and ii .
D) Neither i nor ii '
i 7

e

&

Consider the following statements:
cgball , also known as fullerencs) are fascinatingﬁcarbon}molef;ules

Statement—l: Bu
that resemble soccer ba

—l
from thermal power plants
, .

Statement-
is correct in respect of the above statements?

following
and Statement-1l are correct and Statement-

_II are correct and Statement-11 does not explain

Which one 0
A) Both Statement-I

11 explains Statement-1

Both Statemem-l and Statement

Statement-1
ent-I is correct but Statement-II is incorrect

B)

C) Statem

D) Statement-1 is incorrect but Statement-II is correct

(13 [P.T.0




; : ct wi
40,) Which of the following statement(s) i/ar€ corr®

solar stormgon earth? : it
U Disruption of GPS 11:1vigalim}_m_1£j_§?-t£l—mc i3
L—H"“" Destruction of power grids
o Tii. Tsunamis at equatorial regions

Iv.  Intense auroras all gver the Earth

Select the answer using the code given he

\.A’J/’i and ii only

B) iand ii?“nnly

nunications

Jowy.

C) iiilandiionly he o e
D) I,i1and iv only _——— w\f
: . _ i
@ Consider the following features:
c—  Blockchain integration

Xi1.  Centralized platform
iti.  User ownership and control
iv.  Interoperability
Which of the above are characteristics of Web 3.0?
A) - i!lxand iii only
B) i, ii and iii only
1,11 and iv only
é%;/ii, iii and iv only
b @ “Urea Gold® is a mixture of:
A) Nitrogenandgold X
B) Phosphorous and gold X

C) Nitrogen and Sulphur
D Potassium and Phosphorous

43. Identify the correct match:

Salt Chemical formula
w\ 1. Washingsoda ﬂ;{ffc’- Na,CO,
s 2. Bakingsoda - NaHEO3
3. Gypsum - CaS0,.2H,0
4.  Plaster of Paris - CaSO,.1/2H,0

How many match/es is/are correct?
A) Onlyone match

B) Onlytwo matches

C) Only three matches

D) Allthe four matches (14
91-1) (C)

I

ible effects
i1, respect to POSSE=—= of
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Which of the followi
ollowi :
Ng statement(s) is/are correct regarding the G @lnnovationindex

.  Switzerla s
nd main . o
tamed its position as the global leader in innovation

. Indi : .
aranked 39" in the Global Innovation Index 2024

|- I ln'cha secured the top position among lower middle-income countrics
Iv.  Singapore moves up to second position, leading in several innovation indicators
Select the answer using the code given below.
A) i, iiandiii only
B) i,unandivonly
C) 1,1 andivonly
P7 i, iii andivonly

45.) Consider the following statements regardingSickle cell anaemia:] -

wi. Itiscauseddueto genetic mutation.
,_/n/ It affects the shape of red blood cells arid makes the inability to carry oxyeen.

(_—HHt can be treated by bone marrow or stem cell transplantation.

iv.  Sick Cell Disease causes the body to make normal haemoglobin

The incorrect statement/s is/are:
A) N only
B) iii only

O AiDandiii only

D) iv only

46.( Bletchle Declaration, 2023 was signed by which of the following countries among

others? NI

11.
iji. Russia
-_.-—'-
v, China )
code given below.

SEIECIH]F; correct answer using the

A) iandjionty
B) iandiii onlY
c) iandivonly

D) Allof these
(13) [P.T.O.
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47,) As per the Jammu and Kashmir Budget 2{]——_2_&_2_5, around how many “@fm@tﬂn
rooftop solar power plants are planned to be installed on the government buildings by,

Science and Technology Department?

A) 1MW CBY 2MW
C) 3IMW D) 4MW

. e ‘ - ) spread through direct contact or |,
48,) Which of the following mfectmnsm P : -
proximity with the infected person? Select the most apprfwﬂpl@—fmm the optio

given below:

M onkeypox (Mpox)

B) SarsCov2 infection — lrvid ! 9

C) Influenza virus infection

D) Chikungunya —> asda vie W

@ Noble Prize for Physics 2024 awarded for the development of:
Wy~ Nuclear fusion reaction

el v B) Quantum generator

C) Blockehain
D) Foundational work in Machine Learning using Artificial Neural Networks

.« 50. Which of the following materials is widely used to make|quantum dotjkﬂ for biologi

applications?
A) Silicon B) Cadmiumselenide
C) Galliumarsenide D) G ermanivm

51. Match the following countries based on their ranks as per the medal tally in the Pt
Olympics, 2024:

Countries " Rank
1. Australia 1. Rank one
2 ' ii. . Ranktwo
3. Japan iii. Rank three
4.  France iv. Rankfour
v.  RankFive

Choose the correct answer: -
A) v, 2-ii, 3-iii, 4-v

ygy’ 1- 1|® 3-iii, 4-v

1-11, 2-1i1, 3-1, 4-iv
D) 1-1iii, 2-1v, 3-1, 4-ii

91-1) (O) (16)



52.
K Assertion (A): The

33.  Arrange the general elections in fol!owi@n 2024 in the correct
chronological order:
i Indonesia — Aup
. India _ gmpe> i e A e
lii. Pakistan—— Juse
iv.  Kuwait -
V. Jordan
Choose the correct order:
A) v, i, i, v, i
B) i, iv, iii, v, ii
C) il i, v, i, v
D) i, iv, v, i, iii
54. Arrange the following international ye the correct chronological
order: P —
i. " World Biodiversity Summit (Cali) ~ = " .
ii.  World Climate Summit (New York)
iii. World Climate Summit (Baku)
iv.  World Biodiversity Summit ( New York)
v Climate 'Iﬁirgsﬁnpnt Summit (London)
Choose the correct order:
A) v, iii, I, Vs ii
B) i, iv, iii, v, 11
C) v i iv, 1, 111
PR i, i
) Bt 2 an [P.T.O.
(91-1) (C) ; :

T e T SR
B ave s
Y

Consider the following Statements:

BRICS Summit in year (2024) was hosted by Bl

Rcasnning (R): The motto of the BRICS Summit 2024 was "Strenglhening
Mullilatcmlism for Just Global Development and Security."

Choose the correct answerivw

A)  Alstrue but R is false

B) BothAandR are true and R is the correct explanation of A

eCY” Als false bu Ris true

D) BothAand R are true but R is not the correct explanation of A




|

01
@W'llch of the following statements about A_ﬁ_g‘l_ﬂm"nqlc: ial Conference on Ciy;

Vlatlon re correct?

\—+""" The first Asia Pacific Ministerial Conference was held Il@n 2018. il

“H~" The second Asia Pacific Ministerial Conference was held in New Delhiin 2[}24

ili. The second conferencecwad co-hosted by the International Civil Aviatj,,
Organization and India's Ministry of Civil Aviation,

iv.  The third Asia Pacific Ministerial Conferenc® will be held in Ankara in(2030, |

Choose the correet answer given below: ‘

A) i and ii only "
1, 11 and i only

C) i, ii, iii‘and it

D) iit@_ivv‘only

56 Moonshot initiative’, recently highlighted in news, is launched by which of t

following countries?
A)  China, United Kingdom, Canada, and France

B)  The Uni S of America, United Kingdort, lndoncsm and Malaysia
C)India, Russia, France, and Japa : e s

D) The United States of America, Australia, India, and J apan

57.  TheIndian Institute of Technology Delhi (11T Delhi) recently opened its overseas campu

at

A) Muscat o |
B) AbuDhabi i -1
C) CDubai”>

D) Sharjah ;

58. Wh:ch of the fcllowmg statements about "Development O@M@ s 3nd Displa

cosystems in India" are correct?

Three senncnnductnrs units will be established under this programme.

1.
¥ ii.  All the three units will be located in the state of Assam.

iii. These units will generate direct employmengne lakh people

Two units will be established in Gujarat and one unit in Assam.

iv,
Choose the correct answer given below:
A) iandiionly |
B) i,iiand iii only
C) i,ii, iii and iv
LPJ iandivonly
91-D) (O)

i i -
e S

o ———
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59.

|
2
3.
4

ook
Held i
Creation Lake i
Orbital i
James v,

Choose the correct answer:

A)
B)
0)
D)

L-iv, 2-i, 3.ij,
-1, 241, 34ij,
2-ii, 3-i,

1-iii, 2-iv, 34,

4-v

4-v
4-1v
4-ii

1-11,

Match the fD”O“,fil'lg books and authors shortlisted for Booker Prize 202&;_

Authors We =R
Charlotte Wood
Rachel Kushner
Samantha Harvey
Anne Michaels

Percival Everett

Match the follow ing state/UT-wise list of Gl tagged handloom products of India:

Gl Tagged Handloom Products State/UT
1. Tangaliya Shawl . = _——- 1. .. Nagaland
2. Chakheshang Shawl — =il " "Gujarat
3. P-l;l-aas;:;i Saree and Products —————  1ii.  Odisha
4.  KaniShawl =1V Jammu and Kashmir
Choose the correct answer:
A)  l-jv, 2-ii, 3-iii, 4-i X
ABY T 1-di, 2-i, 3-iii, 4eiv
O T:IP, 2-iii, 3-i, 4-iv
D)  I-iii, 2-iv, 3, 4ii¥

) 61.
1.

il
iil.

iv.

A)
B)
8
D)

91-1) (C)

1 9
Which of the following statements about movie "Santosh":are correct?

The Movie was premiered at the 77" Cannes Filfn Festival 2024,

itai i i i ature category.
The Movie is Britain's Oscar entry in the international featu g

The Movie is India's Oscar entry in n the international feature category.

The Movie is directed by an Indian Director Sandhga Suri.

Choose the corréét answer given below:

i and ii Only
i, ii and iii Only
i, ii, iii and iV
i and iv Only
(19)
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ili <X rC].bG B =S
Kkhstan Joint Military Exe A

62. Match the following edition Ofindia'}iam
the venue of the exerciscs: Venu¢
Joint Military Exercis¢ Auli
1. KAZIND-2024 Otar
ii. KAZIND-2023 Aisha Bibi
i, KAZIND-2022 Uintot

iv. KAZIND-2021 '
How many pairs given above are correct?
A)  Only one pair

B) Onlytwo pairs

C)  Only three pairs

D)  All four pairs

JEE e _ _ .
9 ¥ @ Which of the following statcmente goals of Jammuand KashmerMC)
= (2020) are correct?

i~ To become the most preferred all-scason tourist destinati both domestic anc

foreign tourists by 2025.
ii.  Topromote all kinds of tourismfacrossJammu and Kashmir.’

iii. Topromote city-wise events and festivals witha pre-defined calendar and promoting
b the same at national and international level.
; B e

iv.  To generate employment of approximately 75,000 people per year.

Choose the correct answer given below: ' l'f_ th 13
A) iandiionly - ' 1y

o

£
B) i,iiand iiionly

C) i ii iiiandiv @

L ¥ iandivonly

O_ 64. Consider the following statements:

Assertinn (A): The Jammu and Kashmir.;‘ﬁ.-sgembl Electi g ‘
elections in ldc, Y Ectlons is the third suct

Reason (R):  The Jammu and Kashmir Assemb] Electi N
X since 1947 that has reserved seats i"or SCSIZI;?SO,?: IS the first electior
Choose the correct answer: . ;i

A) Adistrue but R is false

B) BothA and R are true and R is the correct explanation of A
C) AisfalsebutR is true

¢_D¥y*Both Aand Rare true but R is not the correct eXplanation of A
- ¢ o

©1-1) (O) 20)

4
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65. Inwhich year doeg IS

Statiop’ 1SRO plan to launch the first base Jnodulelof the Mww
A) 2032 s
B) 2030
C) 2029
D) 2028
? ihatk .
s )E:“S@E%Blbmuan ari was written by:
0) L;lll1gd1]y“ B) Harisena
al Ded D) Kshemendra
-
67. ;‘K hml&i:herﬁ)”()wing is/are true about Ganas or Sanghas?
" st of the ganas were located in or near Himalayan foothills
1. The ganas had greater vestiges of tribal organization
1.11- Power in ganas was vested in the IMF an aristocracy
| iv.  The ganas were associated with Vaisvas
' Choose the correct answer: Il
A) Only i is correct
B) Onlyi & ii are correct
C) Only i, ii, & iii are correct
D) Onlyi,ii & iv are correct

@Anange the following in chronological order from earlier to later:

Northern Black Polished Ware (NBPW)

1.
ii.  Ochre Colored Pottery (OCP)
iii.  Painted Grey Ware (PGW)
iv. Black and Red Ware (BRW) .
Choose the correct answer:
LAYl i, iV, |
B) v, iil, ii, 1
C) i, iv, ii, 1
Z D) i, 1,11
Which of the following statements is/are correct regarding the Indus Valley Civilization
(IvQC)? o
i Scribes were involved in the seal-making process Oﬂhc civilization.
ii. 'ﬁ{gﬂ(}reat Bath of Mohenjodaro fcature
natural tar. KK - i
X jii. The people of IVC use .@ loughs in their agricultural practices.
Select the correct answer using the codes given below:
A) i and ii only .
B) 1 and iii‘only . '

L/c)/’énly

D)

j, ii and iil
- [P.T.O.

[ 111AR3515555 0.
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70.  Consider the following statements with regard 10

" References to many kinds of :Mﬁmg 1t officials at th
ii.  Pradesikas. Rajukas and Yarktas WeEre 'm!’f’r‘m] :
AT Reference to city administration tun by q’
iv.  References to pativedakas and pulisat
Which of the above statement(s) is/are
A) i &iibnly
By i & ini only
C) i, ii &iiionly
D) i ii&ivonly

correct?

i i i s to the jgrasystem: _
71. o1 the wing statements with regards to :
Nl i administrative officers and nobles in

+ The igta wasa territorial assignment given t0
they performed for the state

Iimf the services
T?E X2.  The holder of igta was designated a{mug!i Ktadors _ —
3.  Originally Iqta was hereditary|and the Mugti was entitled for the 11

! owncrshi[-]. \ '
far€Correct?

Which of the following statement(s) above is
)  Only_Lis correct

A
B) Onlyland Fare correct
Only | an(’@)ﬂre correct

4 D) All the 3 statements are correct

72. Consider the following statements:
i : & . h. d d G. r 1
Assertion (A) Ath’lm;g’t Mahabharata, Ramayana and Gita were translated into

<Persian durirt Akbar's regime
Jahangir set up a translation bureau to transate works in Sanskrit, Arabic,
Greek etc. ) )

Choose the correct answer:

A) Both A & R are true, R is the correct explanation of A

B) BothA & R aretrue, Ris NOT the correct explanation of A

C) Aistruebut Ris false
D) Ris true but A is false

—"

“The princes of the/Bahmanj maintained their superiority by Valou@' for in power,
L] *

Reason (R):

73.

wealth and extent of the country, the Rayas of Bijarnagar (Vijayanagar) greatly exceeded

them™. - - .. |

Who among the following made this statement?

A) Nicolo Conti a

B) Ferishta 2

C) AbdurRazzaq Y— _ g

D) Nuniz 4 “
(91-1) (C) 22)
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Sﬂfﬂji : & positions with their responsibilities in Maratha administration under
Position P
1 Boshivn . _ : Rcspmml‘nhty = :
2 Sm‘-f'-n(mb;N L. Finance an d (rcncm_l Administration
3. Surnavis \: NSt of L
&  Dabir . Commander-in-Chiel
Choose the correet apc v.  Royal correspondence
answer from below:
1 i 3 4
M iy '
1 11 i
/@ T TR L
D) i i i g oo
75. Match the following battles with he/yearthcy were fought:
Battles /l Year
I. First Battle of Panipat ™ i. 1526
2. Battle of Chausa «=— ve) 39 . 1527
3. Battle of Khanwa ;

giii. 1540 e

4. Battle of Kanauj » — 70} 34 iv. 1539 tu.

Choose the correct answer from below:
1 2 3 4

A) i v 11 il

B) i R TR 1

C) i TR | { B

/D)" i i) v i

Znry

atch the Indian musicians of the early twgntiéﬂ; century with their field of expertise:
i Tusician Field of expertise

1. Narayana Dasu 1. Violin ,"3‘3‘/*
2. " Dhanammal - 1. Harikatha ; q‘}” M
3. Allauddin Khan iii. Veena - ‘

4. Chowdiah 1v. Sarod

1815

v. Hindustani vocal
Choose the correct answer: - . = ; _ | ?’jj
q 0 A) i, 2, 3-v, deivX |
a = B) 1-ii, 2-1, 3-iii, 4-v 1y %
4 )y 1-1if, 2-1, . 3-iv, 4-ii A —
UCBP i, @ity 3-iv 4 ‘

Charter Act of 18537

The Act provided that the @{}f the members of the Board of Cogtrol. its
Secretary and other officials would be fixed by the E

ast India Compan aid b
T the British government ]
Q@ _ii—" The number of members of the Court of Directors reduced from 24 1o 18

iii. 6 of the Court of Directors were to be nominated bylthe Crown |

}/—’l

. Select the correct answer using the code given below:
@_5_5_) : Y \BFY ) & i only e
1I{& iii only =
[P.T.O.

\

hich of the following is/are corréet regarding the

(23)




LIJAG‘-& NMNomM M’;?

‘ )
@ Which of the following statement/s is/are correct regarding the Non-cooperatiop
ovement? '

©" The Congress in its annual session held in Decembe m it Allahabad adopteq
Gandhiji's plan for non-cooperation movement against the government
2. TI S5 gan * or of titles and | 5 '
: 1e Congress gave the call for surrender of titles and hionour
L37  Also appeal was made to use M
Choose the correct answer using the code given below:
A)  Only 1 is correct
B)  Only 1 and 2 are correct

1Y Only 2 & 3 are correct et

BT, 2 and 3 are correct (‘ it
79. Consider the following statements with reference to The Lucknow Pact:

1. _Itoffered a join(League-Congresy scheme for constitutional reforms.
27 It demanded representative Government and dominion status for India

¥ 3. However, it @ccept the principle of separate electorate and proportional

representation in both imperial and provincial legislatures.
4" The Lucknow Pact was seen as a beacon of hope to Hindu-Muslim unity

How many of the above statement/s is/are correct?

A)  Onlyone - B) Onlytwo
Only three D) All the four

80. Arrange the following events during the freedom struggle chronologically from earlies
i.  The Wavell Plan———

'! ii.  The Rajagopalchari Formula " .
@ iii. TheAugust Offer— 210 '
_iv.  The Cabinet MisSion— yg — L

Choose the correct answer:

CUA) il dv, il 08 |

By ()iH,AD | Ao >
C)y iii, il,iv,1X '

D) iii, ii,(i) )

81. Consider the following pairs:

Ramsar Wetland State

i.  Bhoj Wetland- . Gujarat

ii.  Nalsarovar ' 2. Uttar Pradesh
iii.. Kanjali “~ 3. “Madhya Pradesh
iv.  Sandi Bird Sanctuary 4. Punjab

Which of the following options is correctly matched with regards to above give!
wetlands and states? :
A) i1, ii-3, iii-2, iv-4 ._ _
P -3, §i-1, ili-4, iv-2 -~ i
TG il v itz
X‘ -2, i3, vl .

BT B an . Y S



82. Consider the following Particularl :
: y Vulnerable Tribal Groups (PVTGs):
1.  Jarawa (EVTGs)

ttr” Sentinelese — /A
“if? Onge — M)
%~ ShomPen —b3

v.  Chenchu
v Great Andamanies — 2.

How many of the above mentioned PVTGs belong to Andaman and Nicobar Island?

A)  Only three
B)  Only one
C) Onlyfive

v - Only?_gzt_r"--—

83. Consider the following pairs:
Cyclone Affected countryfregion

Qlagi D _ Indonesia -

1. & = =
2. Benyl Caribbean - - Q

3. Mal - ! * Fiji

4. Kevin USA q /\

Which of the above given pairs isf:lr matched?

A) 1and3only

B) 2and4only —=
C) 1and4only R m

D) 2and3only ; et

84.quc‘m/sidcr the following Assertion (A) and Reasons(R):
N

ear the equator, the warm rising air that releases latent heat during the formation
of cumylus towers is believed to provide the energy that drives the Hadley cells. As
the flow aloft moves poleward, the air begins to subside in a zone bctwecn@nd
35° latitude. L o
L/('Rf('l)As upper-levem tl%umy equatorial region) radiation
cooling becomes The deminant process,/As agesult, the air cools, becomes denser,
and sinks. -
The Coriolis force becomes stronger with increasing distance from the equator,
_ causing the poleward-moving upper air to be deflected into a nearly west-to-east
flow by the time it reaches 30° Jatitude. This restricts the poleward flow of air. As
a result, general 5‘@5_@21_15‘7 occurs in the zones hetwecn_ 20“ _a_:;_(_jl_ %5“ latitude.
i Chuns:eft\hc correct option among the following with regards to above assertion
" " and reasons: s
w A)  Assertion (A) is incorrect and Reason (R)(!) and (R)(2) are correct.
« B) Assertion (A) is correct but Reason (R)(2) is incorrect explanation of (A).
Assertion (A) is correct and Reasons (R)X1)and (R)(2) are correct explanations of (A).
D) Assertion (A) is correct but Reason (R)(1} is incorrect explanation of (A).

(91-1) (O) (25) [P.T.O.
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85, 2 . ETR
COHS'der.‘hc_fﬁﬂ_]p\vin g distribution of the climate diagram and identify the correct matc,,

E’t’"‘; o
3

Lt7  Tropical S-'_'i\'ﬂlmﬂl‘l/
= ——
Mediterranean climate
et Cold desert
. Hot desert climate
How many climates given above are correctly matched?:
A)  Only onesclimate
Only two climates
C)  Only three climates
D) - All four climates

86. Consider the following statements: A Eanas _
@ 1. Almos opular commercial varieties of silk are produced in India
t-rr" Kammataka 1s the leading silk producing state of India '

11, Tamilnadu is the leading silk producing state of Indjq:

v 1\.-'} : Indian silk industry faces a tough competition iron‘@an.

statements given above are correct?

B) Siiandii®
C) * ii, iii%nd iv*
.fBQ‘)" 1,11 and 1v ¥
< 87. Arrange the following states in descending orderbf literacy rate as per 2011 census:
A
i.  Maharashtra

ii.  TamilNadu H L

i11.  Mizoram - -

iv.  Sikkim

v.  Trnpura

The correct matr._:h is: o
A) i, i, L, 1,V B) i, v, i, iv, ii
o) i, iv it i v D) i, iv, i, i, v

(26)
(91-1) (C)
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88. Which of the follow;
N IOW'“E States of India share international border with Myanmar?
i~ Mizoram
pilie” Manipur o
iv.  Nagaland p

Select the corre .

ct L .
Sape Answer using the code given below:
A) 1, 11 and i only

B) i, il and iv Uniy

.D) All the states

g9. Consider the following pairs:
1. Deception Island - Australia J
2. Kilauea Volcano - Uﬁiicd S;}ates of America
3. Shiveluchvolcano - Norway

4. Ibuvolcano- Indonesia
Which of the following is correct with regards given pairs :

Only 2 and 4 are correctly matched

=
E

A)
B)
i o)
D) Only 3 and4arc correctly 1

Only 1 and 3 are correctly matched .-

“Only 1 and 2 are correctly matched '
natched

increasing order ¢J

90. Arrange the following countries

i.  Philippin®®

ii. Indonesia
iii.  Vietnam
iv.  Cameroofn
er using the code given below:

Ly
Select the correct anst

A) iV, is 1“’ n
B) i, il ik v
jv, il

c) iii i
[P.T.O.

D) ii, 1, 1Vs iii
27
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91.  Consider the following pairs:

Theory Proponent

1 1. D‘a_ly_
2. Equilibrium theory , _ ii.  Murray
3. Subsidence theory \ iii. Newton
4. Standstill Theory o1V, @
The correct matceh is:

I @) 3 a
A i i (W
B) i i ivog

) Rl i iy
i i iv@
—d
92. nrmations are found in: ]\g\

Glacial Control theory

A)  Tarairegion %
B) Gangadelta X

-. W/ Kashmir valley }(\ @M_’
D) RannofKutch

93. Consider the following statements:

£2= Tectonic plates include the crust and the uppermost mantle of the solid earth

g Tectonic plates arolld layers about 100 km thick
N

v PppPL s
//,’3 iii.™ Tectonic plates include the crust and the entire mantle

iv.  Tectonic plates are confined to continental land masscs{onlyr )
Which of the following statements is/are@rrect?

ii onl
ii only ”

X

C) iii and iv only
D) ivenly

@. The eastern most longitude of India is :
( By~ 9423’ E i L% o sy W

B) 97°25E
C) 84025 E %
D) 87°26'E %

©11) (C) o (28)
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95. What is the correct sequence of lhe.@d T
S ¢ Pre; ;
Constitution? ¢amble of the Indjan

A) Secpla_r, Justice, Li_herty Unity and Integrity of Nation
-—B')/ Jll;tif:_f:, Secu'.llfijr; Liberty Unity and Integrity of Nation
C)  Liberty, Justice, Secular| Unity and Integrity of Nation
D)  Secular, Liberty, Justice Unity and Integrity of Nation

FL.
# I - f
96. Which of the following words are mentioned in 'Article 51-A (2)' of the Indian
Constitution?

Mivers '{f o
Morcsls

W iii.  Animals ~00*Y

iv. Lakes

Select the correct answer:
e & i and jionly
e

B) i, ii,and ii1 only

THmmmm

C) i,ii, andiv only v
D .’...’ d - 1 . . o
e Lo g 1529 30

) ' 97. Which of the following Fundamental Rights are also available tq_’non-citizensa

/Equalitybeforelaw BE ey

" ii.  Freedom of expression

Kjiii. Freedom to manage religious affairs

iv.  Protection against arrest and detention in certain cases

—, |

Choose the correct answer: Pt 20 |

!

A) i, i, iii} |

B) ii, 11, 1v
ey, i, iv
D) i, iiiv
29) [P.T.O.

(91-D) (O)
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98. Consider the following statements regarding Consfitutional Amendment

: v i - o ol lia
1" A Constitutional amendment bill can be introduced in either house of Parliament,

Uir” This power is considered Parliament'{Constituent Powearather than its legislative
power.

1. Constitutional amendments are not subject to judicial review.

Which of the above statements is/are correct?

A) ionly
B) iionly
& iandij only

D) 1i,ii,andiii X

@ Consider the follp&ing statements:

L4 Article 329 pertains to restrictions ondourt intervention}inlelectoral matters.)

¥ 2. Article 329 A was removed by thd44™ Constitutional Amendment, ]
Choose the correct answer from the options given below:
~~ A) Only statement 1 is correct

B)  Only statement 2 is correct
C) Both statements 1 and 2 are correct
D) Both statements 1 and 2 are incorrect

Ls S

LR
@Identify the correct group of states having a bicameral legislature:
X A)  Bihar, Maharashtra, Telangana, West Bengal X

— ""_‘?"‘ L. '\/ -
WadesTanﬂmadll , Uttar Pradesh
C) Uttar Pradesh, Bihar, Maharashtra, Andhra Pradesh R

D) elangana, Rajasthan, Madhva Pradesh




